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1. (1)

[ (¢) 03 (d) 04
(1 0f 4) o

yvT-77 A i gFA Y, fua @ a |

There are THREE sections in the paper A, B and C.

Q9T ¢ 4 ¥ q&qT 1 F a1 10 yraTi & Fe AT | T 9T T 3 H 8
¥t 10 977 TG YER F T F 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

T A &8 yval 7 8 5 6 gl % 3T AT | FeE T 3 b F 8 0@
371 5 ET / 50 V&Gl 7 IR AT /

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

e T 3 6 vw 7 @ gl 4 ¥ & I A | GAF T 8 FFETE
737 15 5 / 150 F1&g1 7 37 e |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

g% ST & T 9l F FHIR TF AT & BT |
Solve all the questions of a section consecutively together.
aﬂwﬁﬁmgﬁaﬁ@ﬁﬁaﬁﬂwﬁm?/

Only English version is valid in case of difference in both the languages.
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Section — A

8051 pC T TTureh! <t T B

(a)
(c)

01 (b) 02
03 (d) 04

Number of counters in 8051 pC is

(a)

01 (b) 02
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(iii)

(iv)

v)

(vi)

(vii)
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(2 of 4)
805l pCHAiu HrEen 2|
(a) 01 (b)y 02
(c) 03 (d) 04
The 8051 pC has number of serial ports.
(a) Ol (b 02
(c) 03 d 04
8051 pC T T8 &I HTHA 2
(@ 01K (b)y 02K
(¢) 04K (d 08K
The size of ROM in 8051 puC is
(a) 01K (b)y 02K
(c) 04K (d) O8K
8051 pCHgge R a=n R
(a) 01 (b)y 03
(c) 02 (d) 04
The 8051 pC has number of interrupts.
(@) 01 (b) 03
(c) 02 d 04
8051 uC H 12T &9 &1 ITHN 2
(a) 16 bit (b) 12 bit
(¢) 8bhit (d) 04 bit
The data bus of 8051 puC is of size
(a) 16 bit (b) 12 bit
(c) 8bit (d) 04 bit
8051 puC # P-0 9Y¢ %1 UgH 2
(a) 90H (b) AOH
(¢) BOH (d) 80H
The address of P-0 port in 8051 pC is 8051 pC is
(a) 90H (b) AOH
(c) BOH (d) 8O0H
8051 uC # 318, d. s H1ugE 2
(a) 80OH (b) 88H
(¢) B8H (d) 98H
The address of IP register in 8051 uC is
(a) 80H (b) 88H
(¢) BS8H (d) 98H
8051 pC ¥ Zrgmi-0 #t 37 Jwe feufa vga 2
(a) 0003H (b) 0013H
(c) 000BH (d) 001BH
The interrupt vector location of TIMER-0 overflow in 8051 pC is
(a) 0003H (b) 0013H
(¢) 000BH (d) O00IBH
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(ix) 8051 uC ALPH fiés RRA fra e a1 fdmi 2 7
(a) ST FEH (b) emfew
(c) RIEE T (d) aﬁm
The instruction RRA in 8051 uC ALP belongs to which group of instructions ?
(a) Data transfer (b)  Arithmetic
(c) Logical (d) Boolean
(x) 8051 puC ¥ v.ue bt frdw & v &l e | i frm sman 2 1
(@) ACC (b)y IP
() PC (d) PSW
The flags are indicated in register ____ for 8051 pC ALP.
(a) ACC (by 1P
(c) PC (dy PSW (1x10)

Qe — it
Section - B

2. 8051 uC H \¥ft 37 I GEH HH B LA K. g fafad |
Write an ALP code to enable all interrupts in 8051 pC. (3)

3. 8051 uC H Zrgwe-0 1 Hre-3 # 9o #q Tue. e fafigd |
Write an ALP code to programme TIMER-0 in mode-3 in 8051 uC. (3)

4. 8051 pC ¥ M- 1 1 Hie-2 # I@H #g U #re ferfigd |
Write an ALP code to programme COUNTER-1 in mode-2 in 8051 pC. (3)

5 sosxpcﬁm-laﬁgsaﬁwq.qaﬁh.ﬁg%ml

Write an ALP code to start the COUNTER-1 in 8051 pC. (3)
6. 8051 uC 1 P-0 W % D, D, fae it #ie %1 1 ¢ 1. e fafad |
Write an ALP code to set Dy an D, bits of P-0 port, in 8051 pC. 3)

7. 8051 uCHTE-1 % D, W@ D, fae 1 fedte w3 &g v . s ferfad |
Write an ALP code to reset D, and D, bits of P-1 port in 8051 pC. 3)

8. 8051pcﬁﬁtz-1a$riaizma=rﬁ%§ua.tﬂ.m%f@m

Write an ALP code to make Interrupt-1 edge triggered in 8051 pC. 3)
9. 8051 uC i $g-0 1 Faa fm FH #g TuA . #re forfiad |
Write an ALP code to make interrupt-0 level triggered in 8051 pC. 3)
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10.

11.

12

13.

14.

15.

[ -t

Section — C

8051 uC %1 fom farm st wedeh firm ot v Ewaed |
Draw the PIN diagram of 8051 pC and explain about each pin. (8)

8051 uC H 2Tgmt- | 1 Hig-1 # % yorelt 1 afem Fwwed |
Explain the working of timer-1 in mode-1 with neat diagram for 8051 uC. (8)

8051 pC 1 farelt a9 Tk % T ied il whin &1 afe awwed |

Explain a scheme of interfacing temperature sensor to 8051 uC with neat diagram.  (8)

8051 uC @ e, .21, & e 6 whim i wfax awznEd |
Explain the interfacing of LCD to 8051 pC with neat diagram. (8)

8051 uC 7 ve B2 O 1w wyfa feufa & e wyfa feufa & i 0 2 woe.d. w1
fafaa |

Write an ALP code for copying of an array of data of any size of your choice from
one memory location to another in 8051 uC. (8)

8051 pcﬁsztz-zmqaaﬁafm@maﬁmtﬁio.oq{qa.é.z’t.mﬁ‘«mm%g
u.uA. d. e fafigd |

Write an ALP code to glow a LED connected at port 0.0 whenever an edge triggered
interrupt signal appears at interrupt-2 pin of 8051 pC. (8)



